UxxcRh

JUEGO DE DADOS
Y ACCESORIOS

m
®® ®@®12

USO PESADO CUADRO| PUNTAS | PIEZAS

@""\"e
> P
. ‘b .
=)
\""E'x\co/

cODIGO res G W N I
4700C 12 1 9 2 1



UXXXc=RA CONTENIDO

S w | osowon |

1 4706 Dado 1/4" 6 puntas 3/16"

2 4707 Dado 1/4" 6 puntas 7/32"

3 4708 Dado 1/4" 6 puntas 1/4"

4 4709 Dado 1/4" 6 puntas 9/32"

5 4710 Dado 1/4" 6 puntas 5/16"

6 471 Dado 1/4" 6 puntas 11/32"

7 472 Dado 1/4" 6 puntas 3/8"

8 4714 Dado 1/4" 6 puntas 7/16"

9 4716 Dado 1/4" 6 puntas 1/2"

10 4725 Eﬁ]ﬂg@wegtzhc; para usos multiples 9-41/64" x 4-59/64"

" 4749 Matraca 1/4" reversible

12 4769 Destornillador cuadro 1/4" x 7"
C-4700C #N/D

EME-4700C | #N/

D



